

$$49. \quad A = \frac{x^2 - 9}{|x| - 3}$$

а) Пусть $|x| - 3 \neq 0$

$$\underline{\underline{|x| \neq 3}}$$

$$x \neq 3$$

$$x \neq -3$$

$$A \neq \{2 - 1\}$$

$$\text{б) } A = \frac{x^2 - 9}{|x| - 3} = \frac{|x|^2 - 9}{|x| - 3} = \frac{(\cancel{|x| - 3})(|x| + 3)}{\cancel{|x| - 3}}$$

$$\underline{\underline{A = |x| + 3}}$$

в) $A < 7 \Rightarrow |x| + 3 < 7$
 $|x| < 4 \quad -4 < x < 4$

$$38. \textcircled{A} |2x+y-3| + |3x-y-2| = 0$$

$$\begin{aligned} |x| + |y| &= 0 \\ \Rightarrow x &= y = 0 \end{aligned}$$

$$\begin{cases} 2x+y-3=0 & \Rightarrow \underline{\underline{y=3-2x}} \\ 3x-y-2=0 \end{cases}$$

$$3x - (3-2x) - 2 = 0$$

$$3x - 3 + 2x - 2 = 0$$

$$5x - 5 = 0$$

$$x = 1$$

$$y = 1$$

$$40. \textcircled{B} \text{ NĐ } |a| + \left| \frac{1}{a} \right| \geq 2$$

$$|a| + \frac{1}{|a|} \geq 2$$

$$|a|^2 + 1 \geq 2|a|$$

$$|a|^2 - 2|a| + 1 \geq 0$$

$$(|a| - 1)^2 \geq 0$$

$$\begin{aligned} a &= 1 \\ a &= -1 \end{aligned}$$

$$50. \quad A = \frac{|x|^3 - 2x^2}{|x| - 2}$$

①) при $|x| - 2 \neq 0 \Rightarrow |x| \neq 2$

$$x \neq 2$$

$$x \neq -2$$

$$D_f = \mathbb{R} - \{2, -2\}.$$

②) $A = \frac{|x|^3 - 2|x|^2}{|x| - 2} = \frac{|x|^2(|x| - 2)}{|x| - 2}$

$$A = |x|^2$$

①. i) $|A| = \frac{1}{2} \Rightarrow |x^2| = \frac{1}{2}$

$$x^2 = \frac{1}{2} \Rightarrow x = \pm \sqrt{\frac{1}{2}}$$

ii). $|A| < \frac{1}{3}$

$$x^2 < \frac{1}{3} \Rightarrow x^2 < \sqrt{\frac{1}{3}}$$

$$|x| < \sqrt{\frac{1}{3}}$$

$$41. \textcircled{B} \left| \frac{a}{a^2+9} \right| \leq \frac{1}{6}$$

$$\frac{|a|}{|a^2+9|} \leq \frac{1}{6}$$

$$\frac{|a|}{a^2+9} \leq \frac{1}{6}$$

$$6|a| \leq a^2+9$$

$$0 \leq a^2 - 6|a| + 9$$

$$0 \leq |a|^2 - 6|a| + 9$$

$$0 \leq (|a| - 3)^2$$



$$46. \text{ Av } \left| \frac{3a+1}{a+3} \right| < 1 \text{ vdo } |a| < 1$$

$$\frac{|3a+1|}{|a+3|} < 1$$

$$|3a+1| < |a+3|$$

$$|3a+1|^2 < |a+3|^2$$

$$(3a+1)^2 < (a+3)^2$$

$$9a^2 + 6a + 1 < a^2 + 6a + 9$$

$$a^2 < b^2$$

(=)

$$8a^2 < 8$$

$$|a| < |b|$$

$$a^2 < 1$$

$$a^2 < 1^2$$

$$|a| < |1|$$

$$\underline{\underline{|a| < 1}}$$

Аprox M

$$\frac{|x|^3 - 1}{|x|^2 - 4|x| + 3} =$$

$$= \frac{(\cancel{|x|-1}) (|x|^2 + |x| + 1)}{(|x|-3)(\cancel{|x|-2})}$$

$$\Delta = 16 - 12 = 4$$

$$|x| = \frac{4 \pm 2}{2} \begin{cases} |x| = 3 \\ |x| = 1 \end{cases}$$